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OPTION-A

(Programming in Java)

Paper : GSC-RE-6016 / TCA-RE>-6016 / TIT-RE-6016

1. Answer the foUo^iwng questions as directed;
1x7=7

(a) The datatype is used to store only
two possible values. (True / False)

datatype 'Sfjsf ̂  "sjlsf
<pR<i'£oi <P^1 I • C^/f^)

(b) Full form of JVM is: .
(Fill in the blank)

^1.

(c) Exception generated in try block is
caught in _ block. (Fill in the blank)

Try Exception

<0

(d) Object class in Java is the super class

of eveiy other class. (True/False)

Java-^ object class ^ stl^cBT

super class I (^/f^)
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(e) J^va is a platform-dependent

programming language. (True/False}

Java 1

(f) Final is a keyword in Java, (True/False)

Final Java-^ ̂^1^ keyword I (^/f^)

(g) String objects cannot be changed once

created. (True/ False)
\

String <pRcoi WHtR 1

2. Define the terms ; 2^4=8

O

(a) Class

(b) Object

(c) Abstraction

(d) Inheritance
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3. Answer any three of the following questions :
5x3=15

(a) What is an access modifier ? Write in
brief about the access modifier in Java.

Access modifier Java-^ access

modifier R<)« I

(b) Explain the features of Java
programming language.

Java

(c) Briefly discuss different types of
operators in Java.

Java-^ operator-^

(d) Write a Java program to find the factorial
of an integer number.

^  Java

program 1%^1 .

(e) Give the differences between Java and

C++ programming language.

Java^STR; C++

9\-^ \ ■
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4. Answer any three of the following questions :
10x3=30

WR Rc*picil foPiifH R'^tl o

(a) Discuss the basic principles of Object-
Oriented Programming. Is Java a pure
object-oriented programming language ?
Support your answer.

Object-Oriented Programming-^

^ I Java pure

object-oriented programming language
(?# ? ^ I

(b) Describe the basic datatypes used in

Java.

Java-^ datatype I

(c) What do you understand by constructor
overloading? Give suitable example of
constructor overloading.

Constructor overloading-^ MM?

Constructor overloading-^

%n 1

. (d) Write a Java program to find the sum of
diagonal elements in a given matrix.

diagonal

^ Java ^PTf I
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(e) What are different types of exceptions ?
Give a brief description of ke3^ords used
to handle exception.

. RRjsi exception 1% 1%? lException

(f) Write a Java program to display a
rectangle and a circle in an Applet
vdndow.; '

Applet window-^
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OPTION-B

( Computer Networks)

Paper ; CSC-RE>-6026 / TCA-RE^6026 / TIT-RE-6026

1. Answer the follcw^g questions : 1x7=7

(a) What is Topology. ?

(b) What is Bridge ?

(c) What is Firewall?

(d) What is a Computer Network?

(e) -What is telnet?

(f) What is Framing ?

(g) What is IP address ?

2. Answer the following questions : 2x4=8

(a) Write briefly about Error Control.
E

ft>) Explain briefly about ROuter.

(c) Explain about Virtual Private Network.

(d) What is Domain Name System?

3. Answer the following questions : (any three)
5x3=15

(a) Explain different Framing. Techniques.

(b) Explain two types of cables used in
Computer Network.
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(c) Write few advantages, and few
disadvantages of STAR Topology.

(d) What is Routing? Write briefly about
the different.types of routing algorithm.

(e) Explain in detail about TCP.

Answer the following questions : (any three)
10x3=30

(a) Explain the OSI reference model.

(b) Explain different types of Switching.

(c) Explain different types of Topology.

(d) Explain about different classes of IP
Address.

(e) Explain about the types of computer
network along with .merits and
demerits.

(f) Write short notes on :

SMTP, WWW, CSMA/CD, Flow control
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OraON-C

(Mobile Applications)

Paper : CSC-RE-6036

1. Answer the following questions as directed:
1x7=7

(a) Android apps jise the main thread to
handle UI updates and operations like
user input. (State True or False)

UI update input Android

app-^ CTtrf thread "^1

(mCrf^W^)

(b) Full form of MVC is
(Fill fn the blank)

] Mvc^ ^ ̂

(c) is an object-oriented programming
language used to create applications
•for Apple's. macOS; iOS, and iPad
operating systems. (Fill in the blank)

Apple-R macOS, iOS ̂siR; iPad-^

application ^5?rl^
object-oriented 1

^
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(id) is the application programing
interface (API) used to create native iOS

applications. (Fill in the blank)

iOS application ■^5?rR
API I

(e) is an object graph arid persistence
framework provided by Apple in the
macOS and iOS operating Systeins.

(Fill in the blanJc)

object graph persistance
framework Apple-^ macOS iQS-
i£l 2FFR I

(f) JSON can be used as a seriali^tion
data format for any programming
language to provide a high level of
interoperability. (State True or False)

interoperability JSON
data format serialization

(g) The POST method of the HTTP protocol
allows data submission from clients to
servers. (State True or False)

HTTP protocol POST methods
clients 'Rt server'So^ ®1t^r

(m CS7 ¥
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2. Define the following terms : 2>:4=8,

' (a) Event loop

(b) ■ Accelerometer

(c) Xcode

(d) JavaScript

3. Answer any three of the foUowing questions :
5x3=15

%rt /Sp&/ SfSR I^NT o

(a) What is MVC ? What are the benefits of
using MVC? .

(b) Explain Android File System Hierarchy.

AndrdidT^ SscDsi hierarchy I

(c) Briefly explain the data types available
in objective C.

Objective C-^ ̂  data type 1

(d) How to create navigation contrbller for
Android app ?

Android app-^ navigation controller

3 |Seni-6/C3CSl CSC/Ta/TIT RS1/2/3/4/G 11 CoTltd..



(e) What is Mobile Application Security and

how does it work ?

Mobile application 1% ^

4. Answer any three of the following questions :

10x3=30

^5^ 8

»

(a) What is Cocoa Touch ? List Some of the

main features and technologies of Cocda

Touch. •

Cocoa Touch 1%? Cocoa Touch-^

(b) What is SQLite ? What are the

advantages of using SQLite in mobile

applications ?

SQLite 1%? application-^ SQLite

(c) Describe get, post, put and delete

methods of HTTP.

HTTP-^ get, post, put delete method-
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(d) What is RESTfal programming model ?
What are some real-world applications
ofRESTfulAPIs?

RESTful programming model ?

RESTful API-^ <lj<i>.lRvo| 1% ?

(ej ' Briefly explain Android file system.

Android file system-^ ^ I

(f) Write short notes on :
«

(i) JSON

(ii) UIKit •
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OPTION-C

(Software Engineering)

Paper : TCA-RE-6036 / TIT-RE-6036

1. Answer the following questions as directed:
1x7=7

(a) In build and &c model program is quicMy
developed without making. any
specifications. (St^e fhie or False)

Build and Fix^#r« v£f5lstcg|5i c«WWl

l^<pRvo <^\ ̂  I

(b) F^ll form of SRS is
(Fill in the blank)

(c) coco MO was developed by .
•»

COCOMO t£l I

(i) ' Boehm

(ti) Norden

(iii) Putnam

(iv) Rayleigh
(Chodse the correct option)
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(d) The worst form of cohesion is

Cohesion-^ ^ I
'  '' ' ■

(i) coincidental cohesion

(U) functional cohesion

(iii) temporal cohesion

(iv) logical cohesion
(Chqose the correct option)

: (ytf^

(e) The number of GSC (General System
Characteristics) factors used in Function
Point measure is

Functio:n Point ^ ̂ GSC
(General System Characteristics)-^

^  _l

(i) 13

(u) 14

(iii). 15

. (iv) 16 (Choose the correct option)

(f) The full form, of CFG is ■ ■ .
V  (Fill in the blank)

CFGRT^<^t^'5T _l
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(g) Which of the following life cycle models
can handle risk ? .

Life Cycle mbdeM risk

(i) Iterative waterfall model

(ii) Prototyping model

(Hi) Spiral model .

(iv) Waterfall model
(Choose the correct option)

2. Define the following terms : (any four)
2x4=8

(a) Risk containment

(b) LOG

(c) a-testing

(d) Context diagram

(e) Software crisis

(f) Incremental model

3. Answer ant^ three questions : 5x3=15

foRlfl S

(a) Briefly explain spiral model.

Spiral model-^ I
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(b) Write down the characteristics of a good

SRS.

W SRS'iism I

(c) Define Organic, Semi-detached and
Embedded software.

Organic, Semi-detached Embedded

Software-^ I

(d) What are various types of coupling?
State briefly.

Coupling-^ R%s| £1<pHc<iH 1% 1% ? i

(e) Write short note on Norden's work.

•1^'^ I

4. Answer any three questions : 10x3=30

(a) Explain about notable changes in

Software Development Practices.

(b) Explain various levels in SEI-CMM
model. "

' SEI-CMM model-^^1%^
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(c) Differentiate between : (Uny two)

(i) Dxpert judgement and Delphi Cost
Estimation .

Expert Judgement Delphi Cost
Estimation

(U) LOC and FP

LOC^FP

(Hi) Function-Oriented Design and
Structured Design

Function-Oriented Design 'STR®'

Structured Design.

(d) Describe the basic elements used to
design a Structurised Design (SD)

(SD)-^ ^

(e) Compare the following : (any two)

(RM'il

(i) Waterfall model and Prototyping
model

✓

Waterfall model Prototyping
model
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(ii) Norden's work and Putnam's work

(Hi) Spiral model and Evolutionary
model

Spiral model Evolutionary
model

(f) Explain various stages for obtaining liSO
900Q certification.

ISO

^1
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OPTION-D

(Ei-C6mm6rce Technologies)
Paper : CSC-RE-6046 / TCA-RE^046 ,

1. Answer the following questions : 1x7=7

(a) Define E-commerce.

(b) The World Wide Web (WWW) was

introdueed in the year

(WWW) £t^ ̂

(i) 1994

(u) 1996

(in) 1992

(iv) 1990 (Choose the correct option)

(c) What is EDl?

(d) What is E-shopping?

1%?
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(e) What are the goals of market research ?

(f) What is IT Act 2000 ?

*^1% ̂ ooo t%?

(g) What is distal certificate?

RjRrdJsl 1%?

2. . Answer the following questions: 2^4=8

(a) What are. various compoherits of
electronic commerce applications ?

(b) What are the three different .types of
transitions and mobility within a
wireless network ?

■  •

(c) What are the major methods used for
advertisement ?

(d) What are the advantages of a Smart
Card?
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3. Answer any threeof the foUowirig questions :
5x3=15

f^R^H 5^8-^ 1M s

(a) What are the key technolo^es for B2B
E-commerce ? Explain architectural
models of B2B E-commerce.

(b) What is e-pajmieht ? Why is orientation
and standardization required for
e-paymeht businesses ? ,

(c) What are the security issues of E-

commerce?

(d) What is the, difference between Intranet
and Extranet ?

"^^1 "srpsrs ? ■

(e) Write about the search engine functions
and uses.
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4. Answer ontf three of the following questions :
.  ' - 10x3=30

Ivc^PlC'iJ foPHfH #5il s

■  (a) Discuss about the web servers and their
role in E-commerce.

^ 1

pj) Once a company has acquired customer,
the key to maximizing revenue is keeping
them. Explain how E-commerce is
helpful in customer retention.

w I sn^

C<PW^C"^ ^

(c) Explain B2C E-commerce of a customer
reserving airline tickets from his home
or place of work.

(d) What are two major EDI standards used
in E-commerce ? Which is the standard
accepted for government transactions in
India.
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"SfR^TQ 1% ̂  ?

C<M'iC5l b<M^ ^ si^cf ̂
"snw:? • ■

(e) What ia, the function of an IP packet
screening router ? Explain with the help
of a diagram what are the advantages
and disadvantages of small card in

E-commerce.

^  (7i?lT Wf?rf2fPR

(f) Describe the use of personalization and
customization in E-conimerce. What are

the business values these techniques
have ?

1  c#WT^1% wrif^^.
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OPTION-D

( Operating Systems)

Paper : TIT^RE-6046

1. Answer the following questions as directed:
U7=7

(a) ■ An operating system services to
application programs.

(State True or False)

CSltSft^ £fWR

(b) Shortest-job-first scheduling are
primarily used for interactive systems.

(State True or False)

Interactive system-^ shortest-

job-first scheduling ^ I

(c) Unix is a multi-user operating system.
(State True or False)

Unix multi-user operating system.

(d) operating system has strict time
constraints.for any job to be performed.

(Fill in the blank)
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IkSw job Wf^

(e) Each process has its own address space.

(State True or False)

slrSFF address space I

(f) •• is a preemptive scheduling

method. (Fill in the: blank)

^'51 preemptive scheduling I
-  -

(g) ' Virtual memory is an area of a computer

system's secondary memory storage

space. (State True or False)

Virtual memory

memory storage I (©¥ Gl 1^Nt)

2. Define the following terms : 2x4=8

^  9m s

(a) System software

(b) Process control

(c) System call

(d) Thread
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3. Answer any three of the following questions :

5x3=15

#r«tt s

(a) What are different types of operating

system ? Give brief introduction of each.

^1%^ mm -fbc^viwH #?

ft)) What are the basic functions of operating

system?
c^pi<q> ?

(c) What is process hierarchy ? Explain.

o

(d) Write a program to show that a process

can ignore a signal.

.  >4^ process-i^l signal
csttsiTsrl^i

(e) What is the difference between preemptive

and non-preemptive scheduling ?

Preemptive non-preemptive
scheduling-^ ?

4. Answer any three of,the following questions :

10x3=30

Pic<plcil sPsH °

(a) Write brief description of any five system
calls.

Rc<!>IC'lf system call-^ %It 1
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(b) Briefly explain etni/ ftfo preemptive
scheduling algorithm.

^^1 preemptive scheduling
algorithm^ fef I

(c) Briefly explain memory allocation

strategies. -

Memory allocation C^eic<iHi ̂ 1% ̂ !

(d) Write short notes on process abstraction
and resource abstraction.

Process abstraction resource

abstraction-^^ I

(e) Explain the difference between internal
fragmentation and • external
fragmentation. • . 1

Internal fragmentation external

fragmentation-^ ^ 1

(f) What is address space ? How are address
space and memory space related ?

Address space ? Address space

memory space-^ 1% ?

3(Sem-6/CBCS)CSC/TCA/TrrRSl/2/3/4/G 28 ' 1500




